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PART - III

2 9fAwe> / BIOLOGY
( 5O wHmib Edle euyl / Tamil 8 English Version)

j[u N| 210 |2 |2

&me jate] : 3.00 wewfl CHw | [ Qurgs wlCuarser : 70
Time Allowed : 3.00 Hours | [Maximum Marks : 70
Sdleysorset : (1) dimass edamésEnd sflumng Lfeuns) e erarsm rarugemer sAuMTEES
Qamatetayld. FsILE D Gampuimudar Siens samaTeniiumerflLLD
o L aniquingg Gsflelsgsayw.
2) Beold ez sBUY @wllomar b GG W USHGLD
2Ny 5CsTy Qaugn@h Lwau®ss Couam@b. UL ks uMmTeUSH G
Quendled LweTLHSSeLD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw

diagrams.
GOLY : uGS-1 (auﬂrﬂ-gnmuaﬂud)), LGS (2uif-edondwe) salssall ellamLggmate
e waflgsaw.
Note : Candidate should answer Part-I (Bio-_Botany) & Part-II (Bio-Zoology) in separate

answer books.
UGS - I (2-ulf-gneuyellwed) / PART - I (BIO-BOTANY)

(oHuQuekrser : 35) / (Marks : 35)

9fley - 1 / SECTION - 1
GOl : (i) Soass NemésEné@n elanweflésey. 8x1=8
(ii) Ger@ésluul(@édrear prarg wrHm el saled WS 6rhHLemL W
e amws CsMb0s0s56 GMNUETLBLar e lemeard Cosisg
CT(LPSLD.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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Lo Cy spp@udéd meopugb gaiainm CO, apadmpa@n Gpameitiubio ATP bmmiLo

NADPH aanasilaaa,

(21) 2ATP + 2NADPH (9) 2ATP + 3NADPH

(@) BATP + 2NADPH (r) 3ATP + 3NADPH

For every CO, molecule entering the C, cycle, the number of ATP and NADPH
required :

(a) 2ATP + 2NADPH (b) 2ATP + 3NADPH

(c) 3ATP + 2NADPH (d) 3ATP + 3NADPH

2. @eapd ueguldd gsflmsey GCmCurGsmbsear Cgrg. Gaigd _ erar

SWssLLB&DE).
(=) Slenig(Hser (<)) @ LIeuTeeRTL.

The Pairing of homologous chromosomes in meiosis is known as
(a) Synergids (b) Bivalent

(c) Synapsis (d) Disjunction

3. QbGamav@umbsaie) smayar & o (Heureug)

(=1) s@eaymgedlen Gurg () SOHUDSRES e
(@) sGonsIsE0 Gen (M) s e Gurg)
Endosperm in gymnosperm is formed :

(a) at the time of fertilization (b) before fertilization

(c) after fertilization (d) along with the development of embryo
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1
i 4. QummsEHS :
(1) wredligerd (i) uéeswd
(2) 8ESHTED (ii) QusdCuraflar
(3) Quseiélwbd (iii) u&8len
(4) &L (iv) s CrrdGeanav

(1) (1)-0), (2)-fii), (3)-(iv), (4)-(ii)
(<) (1)-(i), (2)-6), (3)-(idi), (4)-(v)
(&) (1)-liv), (2)-(iii), (3)-), (4)-(ii)
(/) (1)-(iv), (2)-(ii), (3)-f3), (4)-(i53)
Match the following.

:.: (1) Molybdenum (1) Chlorophyll
¢ (2) Zinc (11} Methionine
(3) Magnesium (111) Auxin
(4) Sulphur fiv) Nitrogenasc
- (@)  (1)-(3), (2)-(i13), (3)=fiv). {H)-{is)
i (b) (1)-(if), (2)=(1), (3)-{13), (H)-(av)
(c) (1)-(iv), (2)-(isi), (3}-6). (4)-(1)
(d) (1)-(iv), (2)-(i), (3)-G3), £4)-(a1)

5. &{Q&(&H-(Nﬁ)@d} uﬁ,ﬁgﬂwﬁ;-_‘ﬁ #zziygm ay?

(1) omendl\Qugn («28) umbysn
(@) Byan (m) &CGad
Which of the following is polycarpic plant ?

(a) Mangifera {bj Bambusa
(c) Musa id) Agave

6. Gaamaeappd Tz pop/ags yopsdr dog cpissos fis

vwaru@Pasuuplapa?

(=) Seozuemp Q55440 () Corzd Bapizisd

(B) Pésmwisd (7) @ow swarggd

Which one of the following method/methods is/are used to break the seed
dormancy ?

{a) Scarification (b} Impaction

(c) Stratification (d) All the above
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7.

Qo@bs @Gos @amaser QamarL @gms eul.Lib aran 2|W&ELLGEDS).

(=) Qearuns Gaos @ GHVSLD

(@) LD GBS Qe Gosid

(D) Qeoarhs Gos @ae GG

() Cupsaplu ergeyddene

Gynoecium with united carpels is termed as :
(a) Apocarpous

(b) Multicarpellary

(c) Syncarpous

(d) None of the above

Slgmd Gpit Lméle Awkisemerts LPHIL Seuprer sapens SETLHS.
(=) QL&smuls =fevid smenrliL( eudlvoenew

(=) Ceed seufled iflseney QuiiyCLrdamersamer o dreTg

(@) Qg6 seum H145g1E SnaTlILEHLD

() NLGur unllersamyser sraliL@euddme.

Identify the incorrect statement about the Gram Positive bacteria.
(a) Teichoic acid absent

(b) High percentage of peptidoglycan is found in cell wall

(c) Cell wall is thick layered

(d) Lipo polysaccharides absent

9fley - 2 / SECTION - 2

GOy : eaemeuCugnid Bresis elamss@néd eloL wallsseab. 4x2=8

Note : Answer any four questions.

9.

10.

11.

“19&Cammengels” upml BelliT dleug wmg?
What do you infer from the term “Pycnoxylic” ?

FengLILpoieTeT Fraunrhisaild, seure ey Y LRLID. ger?
Respiratory quotient is zero in succulent plants. Why ?

CapmAGumblyev wpmid Qapi i Crmilyay amastsasmar Caunu@ssis.

Differentiate homeomerous and heteromerous Lichens.
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> . . . (1 [ ) ‘ ‘ ‘
Garflenr LigdHsenetis L QUENYTHG LINGILIGemaTds @ Hlamaln.

Draw and label the parts of regions of root,

LS @TEnID < e Cwimren@ Liih BreunbIs@hs@ Qran® TOSHIGSTHS5ET F(ms.

Give two examples for insectivorous Angiosperm plants.

14. Spssam_aupine, SOWVEFLSFTHEET &(Hs.

() wETHsSSTETHET R SLLIE QenanThs WEFHSSSTETEHET
() waTpsssTaTSHT B0 BB EpLe @amarthd mEse
Give the technical terms for the following :

(a) Stamens are united in one bunch.

(b) Stamens are attached to the petals.

\9fey - 3 / SECTION - 3

&MY : etemeuCuignid (g)s&rgj allamésErse oL wallGseyn. elam ararr 19 -&@s

Note : Answer any three questions. Question No. 19 is Compulsory.

15.

16.

17.

SLLmuwns el wefdseyb.
3x3=9

e GLresafler eumpeluicd efleneraysemer er(psgis.

Write the physiological effects of cytokinins.

greuré Qacadlen maramanidlienLl UL LD cuenhgl LINSHS®mEas Gbl&seyi.

Draw the ultra structure of plant cell and label its parts.

ehemn wigw CsBL 2Wf aurpsémssd Guame @riaLwogw GsBL 2 uif
UTD&Ess @Welalmhg Coumubsss.

Differentiate haplontic life cycle from diplontic life cycle.
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18.

19.

Leeuensnet RNA-afledt «eniolin) ibpmid wesilmaner eflerd@s.

Explain the structure and functions of different types of RNA.

@ @reurelwe euguld NMwir C, greughiser g @@nsGaman 2 HUBHEE
30 ATP a@mer LwearLRdgieugnaab, Cy sralrhiser 18 ATP &gamer wLHGw
vweudsgieugnaand elas@dpni. Gerer oiCs, o Aflwi C, SrouFRsaT STem
C; sramseadde Apps ssaumwly Qupmdamsrs sapdori. BHS
WPTTUTLIG HETET STTTLD GTeTe?

In Botany class, teacher explains, synthesis of one glucose requires 30 ATPs in
C,4 plants and only 18 ATPs in C, plants. The same teacher explains C4 plants are
advantageous ‘than C, plants. What is the reason for this contradiction ?

9fley - 4 / SECTION - 4

GOILY : Searsg) ellessEnsEn eflenwaflsseyb. 2x5=10

Note : Answer all the questions.

20.

21.

(<=t) wepps esuEliber (el Lrflav) (PEHUSSHEURGEDET CT(LPGIS.
346'\)6\)51
(<) GEn&ECamen 2wy wirmmeudliiurasules QUi eranar? e el Qumib
clenaganer aleuf&seayLb.
(a) Write the significances of Mitosis (Indirect cell division)
OR
(b) What is the name of alternate way of glucose breakdown ? Explain the
process involved in it.

Vi ]
| 39 S Nt

(=) avsallenr(Baamer Siger cuangsenler efeifssayib.
FERTERR RO VOV ,
(=) & @B weplar amasmer qHdgssT [Her elleuflsseyb.
(a) Explain Sclereids with their types.
OR

(b) Explain the different types of placentation with example.

j¥ 8 8]

Kindly send me your study materials to padasalai.net@gmail.com


https://www.padasalai.net/
https://www.padasalai.net/

www.Padasalai.Net www.CBSEtips.in

7 |

LGS - I (2_u9f-eQevrisdlwiev) / PART - II (BIO-ZOOLOGY)

(LG usrrsen : 35) / (Marks : 35)

S1fley - 1 / SECTION - 1
GOuY : (i)  Semenssy lenmmésErsE eflenL wal&sa|. 8x1=8

(il) Gsr@ésiuul @erer prang wrHm doLsaie Wsab gHULW
dlevLenws CsibQs0s5s6 GHULOLE deoLlmayn Csrsgl
CT(LPSEYLD.

Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.

1. Qupmsude, Bls sifs aanallsmsuia HApHamsamdas AararL e udflsdr.
(1) yéblser (=) upeeuSET
(@) <@EpdlCuravQumbsar (7)) yepengaer
Which of the following have the highest number of species in nature ?

(a) Insects (b) Birds

(c) Angiosperms (d) Fungi

2. LOUIT ST TN USEZOSE Gl g W wmm?
(=) aumeoir Gpmaesn (=) .. LretevCGen
(@) =iflevmige (/) el sraETCLTED
Who coined the term “biodiversity” ?
(a) Walter Rosen (b) AG. Tansley

(c) Aristotle (d) Ap de Candole

[ $mLuys / Turn over
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3. saegy auge endellwgden wpsdlwds L : |
(=) urgismiy (=) &y
(8) e-dessad (7) (<) whpd (@) GrenGrd

The main function of cuboidal epithelium is :

At s A R
xS T Ay

(a) Protection ) (b) Secretion
(c) Absorption (d) Both (b) and ()
4. _ Segssuiu@ested afsCrmQermevGLmetiav oW Lmedlev FHUOEDS.

(=) s@melen Qs HeuliLgmisser

(<) 8. PBW QU555 GWD L LIUTSD LTHESILEHSDH
(8) smelen Qs QeudrenaTE&E6T
(

F) &, Werwl e Grmured Lrdssiiu@dsd
Erythroblastosis foetalis is due to the destruction of
(a) Foetal RBCs
(b) Foetus suffers from atherosclerosis

(c) Foetal WBCs

(d) Foetus suffers from minamata

5. yraflenger spnflulen elener@Qummer wing?

(1) sTTU6T-eL -, Eme(h (<) wis Sjdled
(@) wilwmr (FF) SLCwreafilwm
The end product of ornithine cycle is :

(a) carbon-di-oxide (b) uric acid

(c) urea (d) ammonia

6. eIbLE Smssman agibLsGa(h @emenTiig) :

(1) SEFBTHTEHET (<=4) sewspmir
(@) Qusigen (rF) coemulurfler
Skeletal muscles are attached to the bones by :
(a) tendon (b) ligament
(c) pectin (d) fibrin
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7. wailg apeeruller mﬁu@;ﬂ 2.6 Qeutiuflanay SLHLUT (L6 GgmmyenLiig)?
(=) fipigpever (<) Qupepever
(8) poEeamb () enanliGUTSMLOGY

Which part of the human brain is concerned with the regulation of body
temperature ?

(a) Cerebellum (b) Cerebrum

(c) Medulla oblongata (d) Hypothalamus

8. Gpmig sevLésmiyLen QsTLiyenw &ri9

(=) Seflwed spiug (<) @i Mared &rnd

(8) erswev &pq (/) umpr eogrmi® srod
The gland, which is related to immunity is

(a) Pineal gland (b) Adrenal gland

(c) Thymus gland (d) Parathyroid gland

9fley - 2 / SECTION - 2
&MLy : eremeuCuenid mrenE, clamésEnss el welsseayib. 4x2=8

Note : Answer any four questions.

9. asmppreng HrAUN MBS APFSFEGSLRTOW DML LD 2niysmas SLbF
Osedng). eueynliyseier uwismer aflesiL(Hs)s.

Air moving from nose to the trachea passes through a number of structures. List
them in the order of the structures.

10. weaflg 2 L6l sraiu(b Udeims Qusskisalea CULTEMmES sans.

Name the different types of Movement seen in human body.

11. waryepelar QuRevCmblwd wdmb YErmaGLmllugms Comu@ssis.

Differentiate between Peristomium and Prostomium in earthworm.

[ Spliys / Turn over
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12.

13.

14,

SNGLD Wi FHid o Mepdlaar o dreran. eren @erntieLinde Gaene?

Why are villi present in the small intestine and not in the stomach ?

GOLOLYeTell raiu@eug), e DUy epssliL(dng?
Why is blindspot called so ?

Camassms Coatssafian Laflsmens FLDaYLD.
What are the duties of a worker bee ?

\Yfley - 3 / SECTION - 3

G srmm@u.@jm Qe eflanmés(emé s QS]GU)L_UJGIﬂéS&BQ{LD oflanm eraim 19 -&@

Note :

15.

16.

17.

18.

19.

SL_LMULONS QSIGU)LUJGTﬂ&S&;Q.ILD 3x3=9

Answer any three questions. Question No. 19 is Compulsory.

LGpm GLrGpUifipwingsaer, QulLrQp Uiy urssadmps Canubsss.

Differentiate protonephridia from metanephridia.

@LWIGUL g Cwd L wpmb eLur@uiyean Gadlida opdume
FOURHCUSDSTET STITERITRIEMETE @g’)]ﬁLS]@&;.

Write the causes for Diabetes mellitus and Diabetes insipidus.

Qewu  @dlsdr eaapred eaaa?  o@men  aLCuTE  LHYD Tl g
o @rLméaLILUphSemmen?

What are heart sounds ? When and how are these sounds produced ?

upaneusaflen sss L ssdlan saliggioud eumips LTSS GG [ E.

List the unique features of bird’s endoskeleton.

Hemhi eremmmed eTemen? SiS6im LILem wng?

What is lymph ? Write its functions.
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Wfley - 4 / SECTION - 4
GUILH ¢ SiWengg Qﬂﬁmré;&@é;@m eflen_wicflGsaid. GRSEL0

Note :  Answer all the questions

20. (=) seuenearulen Quegr QeQumESs LT OSMmS NaTEEa|ID.

ANV T
(%)(Q"”“ﬂu—'@@ (ufey) BDL| LOGRTL LD Gremred Greumen ? 2| & 60T NGy
eSlerd@s.

(a) Explain the female reproductive system of frog.
OR

(b) What is ANS ? Explain the components of ANS.

21 (1) apgleunm Hlaneuler yselimean sl Sléswaar ghu@Sng TaLMS
dlend G s.
3160608
(<) Ul (Buyupedler eumpsamsasd gppfaw HarsEs.
(a) Explain the conditions which create problems in oxygen transport.

OR

(b) Explain the life cycle of Bombyx mori.

-o0o0-
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